Section 10 -

Find Segment Lengths in Circles

Date

THEOREM 10.14

Vocabulary Definition Example
Cthord |, = ip

When two chords intersect in P = AE

SEGMENTS of a the mf.er'u':r. of a.cu"cle, each P, = g:g
CHORD chord is divided into two fd . -
segments that are called Chovida = @D

segments of the chord. P, =ce

Pr= 3

.n-: 'u'%

If two chords intersect in the
interior of a circle, then the

c
; 3
segments of one chord is equal oN—"p _
to the product of the lengths of A8 ) M X"" 5)( )'z ¥ l‘u 3

=Xt
Xtﬁ Pz =x+d
P(Pz)-—P (P)

Find ML and JK. ?;

A
SEGMENTS of product of the lengths of the X(Xi'5) = (x4 I)LX*?
CHORDS
THEORE:\A T:e. s;egmen'rs of the other EA. EB =EC- ED AR
chord. +*6 ¢
2 tnordS P (P) = P () J=3+5t3 rnL- 3+3+\
i JEg=1| ] mL =10
A secant segment is a segment Secant Segm nt = KC
SECANT SEGMENT that contains a chord of a circle, Ohord = BL
and has exactly one endpoint . i
outside the circle. E xyernal so,gmm{- -
C=AB+BC
EXTERNAL An external segment is the part SO.CM* = Ext chorc\
SEGMENT of a secant segment that is b

outside the circle.

Tm\at,r& 503m¢n+ = ;E




THEOREM 10.15

If two secant segments share
the same endpoint outside the
circle, then the product of the

A |

SEGMENTS of lengths of one secant segment
SECANTS and its external segment equals EA- E® =EC- ED
THEOREM the product of the lengths of ext, Lsuml-,) =ext, (Stcun’r,_)
the other secant segments and -
wle) = 5(Xt5)
2 SLCM*S its external segment. 5“0;();.: E;d, ¥ dnod. 80)_-; 5X + 25 ‘
ep=EAL AR EpN=ECECD 36 ~gx | X=7|
ton=x Ext=0
Secant =10
If a secant segmentgand a £ 305
tangent segment share an 2
THEOREM 1013 endpoint outside a circle, then \J‘

SEGMENTS of the product of the lengths of a 4
SECANTS and . 2 .. BC D

TANGENTS secant segment and its external | EA< = ¢

THEOREM segment equals the square of (’mn)" = Exf(g_m.n'})

4 the length of the tangent
Steant on segment.
T j
2 chords secant ond Tangunt

N,

P\ (P:-) g Pl (PZ)

Ext, (SLCM‘J‘ 1)= Ext, (szcan’r,,)

(on) “z€x4 (secant )



